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Wichtige semantische Aquivalenzen

H1 — <H2 — Hg)

H1 /\HQ = HQ/\HI
H1 \/HQ 54 H2\/H1
H1 (—>H2 <~ HQ(—)Hl
-—-H < H
_\(Hl /\HQ) & —Hp vV A-H,
ﬁ(Hl \/Hg) & —Hy A-Hs
—|(H1—>H2) = Hl/\_'HQ
_|(H1 <~ HQ) & —Hp - Hy
H/VH, & -H — H,
H —-Hy, & -HVH,
H1 — H2 = _|H2 — _|H1
H —-H < _|(H1 N _|H2)
H1HH2 =4 (H1—>H2)/\(H2—>H1)
(Hl/\HQ)\/H3 ~ (H1VH3)/\(H2\/H3)
(Hl\/HQ)/\Hg <~ (Hl/\Hg)\/(HQ/\Hg)
(Hl \/HQ) /\H1 ~ H1
(Hl /\HQ) \/Hl ~ H1
Hl/\Hl = H1
H1 \/H1 <~ H1
=

(p\/—|p)/\H & H

(pV-p)VH & pV-p

(pA-p)ANH & pA-p

(pAN-p)VH < H



